Area and Circumference of Circles

Sk é\REVISE THIS
TOPIC

1 Acircle has a radius of 8 cm.

(a) Work out the area of the circle.
Give your answer to 1 decimal place.

——

ILXx 8° = 2010619299

20\ \

cm?
(b) Work out the circumference of the circle.
Give your answer to 1 decimal place.
Ux 16 = 50-2654%824%6L
203 .
(Total for Question 1 is 4 marks)
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2 A circle has a diameter of 20 cm.

20cm

(a) Work out the area of the circle.
Give your answer to 1 decimal place.

TCx 10" = Y% 1S 92654

5140

(b) Work out the circumference of the circle.
Give your answer to 1 decimal place.

TUx 20 =062 83185307

GL-3¥

cm?

cm

(Total for Question 2 is 4 marks)
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3 Acircle has a radius of 7 cm. @

(a) Work out the area of the circle.
Give your answer in terms of «t

wx3% = $ag

b tg

cm?

(b) Work out the circumference of the circle.
Give your answer in terms of ©

TUX 4= 147

%t

(Total for Question 3 is 4 marks)
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4 A circle has a diameter of 12 cm. @

(a) Work out the area of the circle.
Give your answer in terms of «t

TUx 6= 36T

36T

cm?
(b) Work out the circumference of the circle.
Give your answer in terms of ©
TC X |1= \210
\lv .

(Total for Question 4 is 4 marks)
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5 Here is a semicircle with a diameter of 30 cm.

N

30 cm

(a) Work out the area of the semicircle.
Give your answer to 1 decimal place.

X |1S*: 306-3S2347F|
306:%2... = L = 35242191325

RSN S

(b) Work out the perimeter of the semicircle.
Give your answer to 1 decimal place.

TUx 30= 9% 2433396\
Ag-2..= L = 4F122 8848
431 + 30 = 331238849

13\

; cm
’ (Total for Question 5 is 6 marks)
5
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6 Here is a quarter circle with a radius of 9 cm.

/.

9cm

(a) Work out the area of the quarter circle.
Give your answer to 1 decimal place.

TUxat= 25% 462 0044
Y- 4. +4 = 63-61F251 24

0% 6

B cm?
(b) Work out the perimeter of_the quarter circle.
Give your answer to 1 decimal place.

-l ...

TUX (8= S6:S¢R66336 )
S6-S.. 4= 14 13F16bd% /A

L1, $A+Q = 2213316604 A

gL\,

)
(Total for Question 6 is 6 marks)
6
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7 Here is a semicircle with a diameter of 8 m.

(a) Work out the area of the semicircle.
Give your answer in terms of «t

TUx %= low
o1, = 2= 8t

(b) Work out the perimeter of the semicircle.
Give your answer in terms of ©

mwx 3 = ¥
AT =2 = 4

e

2

T8

-

8w

b + 8

(Total for Question 7 is 6 marks)
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8 The diagram below shows a circular shaped garden with a radius of 7.5 m

(a) A gardener plans to cover the garden in grass seed.

A box of grass seed will cover 40 square metres of the garden.
Work out how many boxes of grass seed the gardener will need.

X 3Sh= 1Ho HY SRR m*
36 - Ft.. 40 = L. Y\ TR 66

S boxes
(b) The gardener also wishes to put a fence around the outside of the garden.
The fencing costs £30 per metre.

Work out the total cost of putting a fence around the out of the garden.
Give your answer to the nearest pound.

Tux IS =
U} |.. x 130

43 -\138%4A8m
2141331 bbay

9 \Y

(Total for Question 8 is 6 marks)
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9 Hereiscircle A and circle B.

B
N d,\amb\'g"r
Radius of circle A : Radius of circleB=3:2
Work out the circumference of circle B
Give your answer to 1 decimal place.
%12 kL TTx 4%

3. 6 ?.Lk = |5-0F 96 W FY

1D\

(Total for Question 9 is 3 marks)

10 The circumference of a circle is 200 cm.
Work out the radius of the circle.
Give your answer to 2 decimal places.

1900 = T0= 673 bb \93F 1 (diametes)
63:-6..-2= 31-2309%962 (radius)

31-3%

(Total for Question 10 is 3 marks)

cm
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11 Here is a circular wire with a radius of 10 cm.

The circular wire is bent to form an equilateral triangle.

(a) Work out the length of one side of the equilateral triangle.
Give your answer to 1 decimal place.

wx 20 = 62-2%19352%0%
62-%..=3%= 20-A9439S10L

10

10
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(b) Instead, the circular wire is bent into the shape of a square.
What does this mean about the length of one size of the square?

Tick one box.

It is more than the answer to part (a)

It is the same the answer to part (a)

/

\/ It is less than the answer to part (a)

(Total for Question 11 is 4 marks)

12 The shaded region below is made from two circles.

The radius of the smaller circle is 3 m.
The radius of the larger circle is 5 m.

Calculate the area of the shaded region.

LxS* 3385281634
Tx 3% 28-114 3338
38-S.. - 28-2.. = S0-26543146

50-3 .

(Total for Question 12 is 3 marks)

11
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13 A running track is made from two straight sections and two semicircles.

80m

P
o N
A

60 m

The straight sections are 80 m long.

The semicircles both have a diameter of 60 m.

(a) Work out the total length of the running track.
Give your answer to the nearest metre.

,

\. and })

"
!

sive,s \J

Tx 60 = 1833-4q4 555Q2
1834 . +80+ 80 = 348 -WsS..

(b) The inside of the running track is covered with grass.

34 €

Work out the area of the grass on the inside of the running track.

Give your answer to 1 decimal place.

Circle: Tx 30% = 2823432393

Reckangle = 00 x 90
G300+ L)L ...

12
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3613 -Y%

(Total for Question 13 is 6 marks)
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14 The diameter of Lenny’s bike wheel is 62 cm.

62 cm

Lenny rides his bike 800 metres.

Work out how many complete revolutions his bike wheel will complete.

(one revoluhon)

4
T X 62 = 19% FALFUYS um
gy

200m = £0000wm

20000 = VA% F... = L1O-F2LL%329

410

(Total for Question 14 is 4 marks)

13
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15 Two touching circles fit exactly inside this rectangle.

60 cm R

‘ BONL&& /T\'socm
\/\/J’

(a) Work out the circumference of one of the circles.
Give your answer to the nearest centimetre.

Tx30= Q4% L FXrF96\ im

a4

(b) Work out the area of the shaded region.
Give your answer to 1 decimal place.

Rec)(oms\e . box 30 = 1300

CGircle = TOx \S%*=30b 959343
L Circles = F06-%...x2 = 14133\ bb%

(800-1ki3-F.. = 3862833059
386-%3

(Total for Question 15 is 6 marks)

14
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16 A semicircle is cut from a square as shown. @

20cm

20m

Work out the area of the shaded region.
Give your answer in terms of

chmre' - 20 x Yo = 40O uml

Sewicircle @ TUX o* = 100
100w 2= SO0rC

400-50r

(Total for Question 16 is 4 marks)

2

15
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17 5 congruent circles of radius 4 cm fit inside a larger circle. @

4cm 4 '\-

Work out the area of the shaded region.
Give your answer in terms of it

ArecL oS' \O\rge, cede = ©x 1L°
= 44T
Area of small circle = ©x4?

Sha.dec\ Qeﬁ(ovx = 44T -Sx \brT
* b4 w - 80~

YT .

(Total for Question 17 is 4 marks)

16
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18 A design is made by placing a semicircle on top of a square.

A
m

= -2 3
2c

48 cm

yig

The total height of the design is 48 cm.
Work out the total area of the design.
Give your answer to 1 decimal place.

_._,3£7>r‘-L&-g )3 radins = \b
r=1b ° dameker = 32

Sq/uau'c A XL = 024
Semitircle : Tx (6 = 804%-143F\Q3
fow2..52: L0 1138591

OLY% + wol-\1.. = |416-123%0

416\ ..

(Total for Question 18 is 4 marks)

ﬂ 17
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